|BARAEEAR (BAd)

g |SREARC| L0 | rd | wdom. | eirae. | ey | 1000y
Kif—b 1,580 1,580 3,150 940 320 260
ams 630 630 1,260 370 320 260
smam | 2EEEE] 320 320 630 180 320 260
2BEREE2 320 320 630 180 320 260
2k 630 630 1,260 370 320 260
2hzEREE 630 630 1,260 370 320 260
am= 630 630 1,260 370 320 260
am=2 320 320 630 180 320 260
e 320 320 630 180 320 260
SEARMEHOE| AR 630 630 1,260 370 320 260
BB 320 320 630 180 320 260
2BEREE2 320 320 630 180 320 260
2RI 1,580 1,580 3,150 940 320 260‘
= 630 630 1,260 370 320 260
2m= 320 320 630 180 320 260
am=2 320 320 630 180 320 260
AAnRE | mEs 320 320 630 180 320 260
2BEEER 320 320 630 180 320 260
2BaEm=E2 320 320 630 180 320 260
2BERI—I 1,580 1,580 3,150 940 320 260
S 320 320 630 180 320 260
panp | ZEAERE 1,050 1,050 2,100 630 320 260
kA= 630 630 1,260 370 320 260
SphaEE 630 630 1,260 370 320 260
s 320 320 630 180 320 260
sxamreevs-| E2HHER 1,580 1,580 3,150 940 320 260
mEs 630 630 1,260 370 320 260
s 320 320 630 180 320 260
—snmp | EEE 320 320 630 180 320 260
K= 1,580 1,580 3,150 940 320 260
2msAn= 630 630 1,260 370 320 260
s 320 320 630 180 320 260
am= 320 320 630 180 320 260
e | 1,580 1,580 3,150 940 320 260
2B 630 630 1,260 370 320 260
2pEAnE=2 320 320 630 180 320 260
2iEaEE 320 320 630 180 320 260
2E=T 630 630 1,260 370 320 260
am=2 630 630 1,260 370 320 260
s | SAE3 630 630 1,260 370 320 260
SEMR—IL 1,580 1,580 3,150 940 320 260
e 630 630 1,260 370 320 260
SRR 1,580 1,580 3,150 940 320 260

AR
2 |EREARC | 1mmpry | WHEEY | _FH 3 i BT | %R | BER
B RS Rl (FhAF) IBFREUEF ABSREMEF ABSRMEF | TBSRAM7=L) | 1BSRAN7L) 1&H7=L)
Kik=)b 500 550 1,650 2,200 2,200 550 0 [
RHE 200 220 660 880 880 220 0 0
2BEREE] 100 110 330 440 440 110 0 [
HEARSE
2HERFHE2 100 110 330 440 440 110 0 0
2REFNE 100 110 330 440 440 110 0 0
BB E 100 110 330 440 440 110 0 0
SAE] 100 110 330 440 440 110 0 [
RFE2 100 110 330 440 440 110 0 0
AR 100 110 330 440 440 110 0 0
ERARMRIESIE = 100 110 330 440 440 110 0 0
2BEREE] 100 110 330 440 440 110 0 [
2HERFHE2 100 110 330 440 440 110 0 0
2BERR—IV 400 440 1,320 1,760 1,760 440 0 0
= 100 110 330 440 440 110 0 0
SEE] 100 110 330 440 440 110 0 0
RFE2 100 110 330 440 440 110 0 0
AANREE A= 100 110 330 440 440 110 0 0
2HERFHET 100 110 330 440 440 110 0 0
2REEFHE2 100 110 330 440 440 110 0 0
2RERIR—IV 400 440 1,320 1,760 1,760 440 0 0
INEHE 100 110 330 440 440 110 0 0
2HEREHE 300 330 990 1,320 1,320 330 0 0
PR
2REFNE 100 110 330 440 440 110 0 0
SHEPERHEE 100 110 330 440 440 110 0 0
EFHER 100 110 330 440 440 110 0 0
aRazFeevs—| H2AHEE 400 440 1,320 1,760 1,760 440 0 0
AR 200 220 660 880 880 220 0 0
REE 100 110 330 440 440 110 0 0
_ REE 100 110 330 440 440 110 0 0
AR
Kik=)b 300 330 990 1,320 1,320 330 0 0
2REFNE 100 110 330 440 440 110 0 0
REE 100 110 330 440 440 110 0 0
REE 100 110 330 440 440 110 0 0
Kik=)b 400 440 1,320 1,760 1,760 440 0 0
RIFARE
2B 100 110 330 440 440 110 0 0
2BEE2 100 110 330 440 440 110 0 0
2REEHE 100 110 330 440 440 110 0 0
RFE=E1 100 110 330 440 440 110 0 0
REE2 100 110 330 440 440 110 0 0
[F=E3 100 110 330 440 440 110 0 0
FEAREE
ZEMIR—I 300 330 990 1,320 1,320 330 0 0
ARE 200 220 660 880 880 220 0 0
3EERIR—IL 500 550 1,650 2,200 2,200 550 0 0




